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ol gl gl 9,632,065 8,626,491 1,005,574
< 35,550
Al 9,596,515
801 Gl HIbl 9,632,065 8,626,491 1,005,574
< 35,550
Al 9,596,515
01 BHoil bl bl 2,000,000 3,200,000 A 1,200,000
O Eetalgl bl 2,000,000
02 THoH - THE= Zolidl bl 3,149,745 4,537,031 A 1,387,286
OTXHoll - THE=H 0ldl bl 3,149,745
B UHRESES 4,482,320 889,460 3,592,860
OUus=R=E3 4,482,320
< 35,550
Al 4,446,770
HE2LZH (D2 AA) 51,872 109,350 ABT7,478
=3l 51,872 47,000 4,872
JlE&l 51,872 47,000 4,872
201 L2l 41,472 39,600 1,872
01 At 22/l 34,272 33,600 672
ORN2Y Jl=ZHl 250,000& = 12& 3,000
OMREE FL(SAX S) 400,0008 * 128 4,800
OHIARINI A28 F¢ 9,000
= J| &8It 300,000& = 404 = 23l 2,400
cANEE20HAHE 300,000& = 3CH = 23] 1,800
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M WESAZH OIHBAL)
o J2dl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 0ff &t 300,000& = 304 = 23| 1,800
o RS 300,000& = 208 = 23l 1,200
o 2 A 300,000 =« 3CH = 23] 1,800
Oz &l 8,000& = 269 + 7¢ » 123 17,472
02 =224l 7,200 6,000 1,200
OfERS 600,000& = 12& 7,200
202 odl 2,600 2,600 0
01 = LH o4 1l 2,600 2,600 0
OHla22 21U bl 2,600
203 YR =] 7,800 4,800 3,000
022 PR =8| 3,000 0 3,000
OJIEZAEE J22F P2 =8I 3,000
04 EAN2IHRFEHI 4,800 4,800 0
ORAM2IYRFLH] 400,000& » 128 4,800
HWERES(II22AMA) 2,650,000 40,862,680 A 38,212,680
EdXE 2,650,000 40,862,680 A 38,212,680
MRS 2,650,000 40,862,680 A 38,212,680
802 BHEt = JIEF 2,650,000 2,650,000 0
01 2 NE2x3eeEa 1,900,000 1,900,000 0
O=1NBxz AN 1,900,000
02 Al - EHIEXZSEHEZ 750,000 750,000 0
OZHExz ZHEH 750,000




